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QUESTION 1

In which stage of the requirements engineering process are requirements checked to see whether they are well formed
and SMART?

A. Requirements management.
B. Requirements documentation.
C. Requirements analysis.

D. Requirements elicitation.

Correct Answer: C

QUESTION 2

When are workshops especially valuable?

A. When suitably sized rooms are available.

B. When all stakeholders are agreed on the way forward.

C. When a geographically dispersed set of users needs to be consulted.
D. When time and budget are constrained.

Correct Answer: D

QUESTION 3

A company holds information about 1000 customers. It receives, on average, 50 orders per day. Each order must be
placed by only one customer. Customers must have placed at least one order but may place several. An analyst has
shown an association between the classes Customer and Order. What multiplicities should she show at the Order end
of this association?

A.0..*.

B. 1.*.

C. 0..50.

D. 1..1000.

Correct Answer: B
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QUESTION 4

A business analyst wishes to show that a company wants to store information about different types of product. Some
attributes are common to every product (for example; product name) but other attributes only apply to certain product
types. For example, product material only applies to accessory products. Which of the following constructs could the

business analyst use to represent this on a class model?

A. An association class.

B. A many-to-many multiplicity.

C. A generalisation structure.

D. An structure.

Correct Answer: C

QUESTION 5

What do the arrow headed lines between activities represent on a business activity model?
A. Activity sequence

B. Logical dependency.

C. Functional optionality.

D. Flow of data.

Correct Answer: B
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